C:# Conversione di lunghezze americane miste Nome:

Risolvi ogni problema.

1) 8iardee2piede=  piede
2) 3piedee3pollici=_ poallici
3) 7iardee2piede=  piede
4) 7piedeedpollici=_ poallici
5) 6iardeelpiedi=  piede
6) 5Spiedee3pollici=_ pollici
7) Adiadee5piede=  piede
8) Spiedee2pollici=_ pallici
9) liardae2piede=  piede
10) 9 piedee7 pollici = pollici
11) 10iardeelpiedi=  piede
12) 1piedie3pollici=_ pollici

Risposte

10.

11

12.
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Ch Conversione di lunghezze americane miste Nome:

Soluzioni

Risolvi ogni problema. Risposte
1) 8iardee2piede= 26 piede

1 26

2 39
2) 3piedee3pollici= 39 poallici

3. 23
3) 7iardee2piede= 23 piede 4 88

5, 19
4) 7piedeedpollici=_ 88 padllici

6. 63

7 17
5) 6iardeelpiedi= 19 piede

8. 62
6) Spiedee3pollici= 63 pollici 0. )

10, 115
7) 4iadee5piede= 17 piede

11, 31

12, 15

8) Spiedee2pollici= 62 poallici

9) liardae2piede= 5 piede

10) 9piedee7pollici= 115 poallici

11) 10iardeelpiedi= 31 piede

12) 1piedie3pollici= 15 pollici
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